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Question Id : 68634041221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340162801. 1

686340162802. 2

686340162803. 3
686340162804. 4

Question Number : 2 Question Id : 68634041223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340162805. 1
686340162806. 2
686340162807. 3
686340162808. 4



Question Number : 3 Question Id : 68634041224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401628009. 1
686340162810. 2

686340162811. 3
686340162812. 4

Question Number : 4 Question Id : 68634041225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340162813. 1
686340162814. 2

686340162815. 3
686340162816. 4

Question Number : 5 Question Id : 68634041226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340162817. 1
686340162818. 2
686340162819. 3
686340162820. 4

Question Id : 68634041221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340162801. 1
686340162802. 2
686340162803. 3
686340162804. 4

Question Number : 2 Question Id : 68634041223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340162805. 1
686340162806. 2
686340162807 3
686340162808. 4

Question Number : 3 Question Id : 68634041224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340162809. 1
686340162810. 2
686340162811. 3
686340162812. 4

Question Number : 4 Question Id : 68634041225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340162813. 1
686340162814. 2
686340162815. 3



686340162816. 4

Question Number : 5 Question Id : 68634041226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340162817. 1
686340162818. 2
686340162819. 3
686340162820. 4

Sub-Section Number : 2
Sub-Section Id : 6863401356
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634041227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340162821. 1
686340162822 2
686340162823. 3
686340162824. 4



Question Number : 6 Question Id : 68634041227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340162821. 1
686340162822 2
686340162823. 3
686340162824. 4

Question Number : 7 Question Id : 68634041228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340162825. 1
686340162826. 2
686340162827. 3
686340162828. 4

Question Number : 7 Question Id : 68634041228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340162825. 1
686340162826. 2
686340162827. 3
686340162828. 4

Question Number : 8 Question Id : 68634041229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340162829. 1
686340162830. 2
686340162831. 3
686340162832. 4

Question Number : 8 Question Id : 68634041229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340162829. 1
686340162830. 2



686340162831. 3
686340162832. 4

Question Number : 9 Question Id : 68634041230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340162833. 1

686340162834. 2

686340162835. 3
686340162836. 4

Question Number : 9 Question Id : 68634041230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340162833. 1
686340162834. 2

686340162835. 3
686340162836. 4

Question Number : 10 Question Id : 68634041231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340162837. 1
686340162838. 2
686340162839. 3
686340162840. 4

Question Number : 10 Question Id : 68634041231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340162837. 1
686340162838. 2
686340162839. 3
686340162840. 4



Question Number : 11 Question Id : 68634041232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340162841. 1
686340162842. 2
686340162843. 3
686340162844. 4

Question Number : 11 Question Id : 68634041232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340162841. 1
686340162842. 2
686340162843. 3
686340162844. 4

Question Number : 12 Question Id : 68634041233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340162845. 1
686340162846. 2
686340162847. 3
686340162848. 4

Question Number : 12 Question Id : 68634041233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340162845. 1
686340162846. 2
686340162847. 3
686340162848. 4

Question Number : 13 Question Id : 68634041234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340162849. 1
686340162850. 2
686340162851. 3
686340162852. 4

Question Number : 13 Question Id : 68634041234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340162849. 1
686340162850. 2
686340162851. 3
686340162852. 4

Question Number : 14 Question Id : 68634041235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340162853. 1
686340162854. 2
686340162855. 3
686340162856. 4

Question Number : 14 Question Id : 68634041235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340162853. 1
686340162854. 2

686340162855. 3
686340162856. 4

Question Number : 15 Question Id : 68634041236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340162857. 1
686340162858. 2

686340162859. 3
686340162860. 4

Question Number : 15 Question Id : 68634041236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340162857. 1
686340162858. 2

686340162859. 3
686340162860. 4

Question Number : 16 Question Id : 68634041237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340162861. 1
686340162862. 2
686340162863. 3
686340162864. 4

Question Number : 16 Question Id : 68634041237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340162861. 1
686340162862. 2
686340162863. 3
686340162864. 4

Question Number : 17 Question Id : 68634041238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340162865. 1
686340162866. 2
686340162867 3
686340162868. 4

Question Number : 17 Question Id : 68634041238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340162865. 1
686340162866. 2
686340162867 3
686340162868. 4

Question Number : 18 Question Id : 68634041239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340162869. 1
686340162870. 2
686340162871. 3
686340162872. 4

Question Number : 18 Question Id : 68634041239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340162869. 1
686340162870. 2
686340162871. 3
686340162872. 4

Question Number : 19 Question Id : 68634041240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340162873. 1
686340162874. 2

686340162875. 3
686340162876. 4

Question Number : 19 Question Id : 68634041240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340162873. 1
686340162874. 2
686340162875. 3
686340162876. 4

Question Number : 20 Question Id : 68634041241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340162877. 1
686340162878. 2
686340162879. 3
686340162880. 4

Question Number : 20 Question Id : 68634041241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340162877. 1
686340162878. 2
686340162879. 3
686340162880. 4

Question Number : 21 Question Id : 68634041242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340162881. 1
686340162882. 2

686340162883. 3
686340162884. 4

Question Number : 21 Question Id : 68634041242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340162881. 1
686340162882. 2
686340162883. 3
686340162884. 4

Question Number : 22 Question Id : 68634041243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340162885. 1
686340162886. 2
686340162887. 3
686340162888. 4

Question Number : 22 Question Id : 68634041243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340162885. 1
686340162886. 2
686340162887. 3
686340162888. 4

Question Number : 23 Question Id : 68634041244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340162889. 1
686340162890. 2
686340162891. 3
686340162892. 4

Question Number : 23 Question Id : 68634041244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340162889. 1
686340162890. 2
686340162891. 3
686340162892. 4

Question Number : 24 Question Id : 68634041245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340162893. 1
686340162894. 2
686340162895. 3
686340162896. 4

Question Number : 24 Question Id : 68634041245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340162893. 1
686340162894. 2
686340162895. 3
686340162896. 4

Question Number : 25 Question Id : 68634041246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340162897. 1

686340162898. 2

686340162899. 3
686340162900. 4

Question Number : 25 Question Id : 68634041246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340162897. 1
686340162898. 2
686340162899. 3
686340162900. 4

Part B: Dairy Technology

Section Id : 686340812
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401357
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634041247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lactic acid content in fresh milk is.

1. 0.40%

b2
=
-
i
X
o

4. 0.20%

Options :

686340162901. 1
686340162902. 2
686340162903. 3
686340162904. 4



Question Number : 26 Question Id : 68634041247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arel gy H dfded s 1 471 fbar gl o7

1. 0.40%

|

. 0.25%
3. 0.10%
4. 0.20%

Options :

686340162901. 1
686340162902. 2
686340162903. 3
686340162904. 4

Question Number : 27 Question Id : 68634041248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
is used to remove milk stone.
1. Alcohol
2. Alkali
3. Acetone
4. Acid

Options :

686340162905. 1
686340162906. 2
686340162907. 3
686340162908. 4

Question Number : 27 Question Id : 68634041248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 UG Y & YRR B¢ 1 fal I g1

1. Uehigd
&R
. TdieH

4. 3K

| )

L

Options :

686340162905. 1
686340162906. 2
686340162907. 3
686340162908. 4

Question Number : 28 Question Id : 68634041249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average pH of normal milk 1s.

1.>66

[
i
i
=

4.>7.6

Options :

686340162909. 1
686340162910. 2
686340162911. 3
686340162912. 4

Question Number : 28 Question Id : 68634041249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Y BT A Gd pH FE R -

1.=6.6

Options :
686340162909. 1



686340162910. 2
686340162911. 3
686340162912. 4

Question Number : 29 Question Id : 68634041250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Approximately cow milk contains of total solid percentage.

1,25

b
=
L]

4 .13

Options :

686340162913. 1
686340162914. 2
686340162915. 3
686340162916. 4

Question Number : 29 Question Id : 68634041250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 g4 S8 U 9 o 619 Wiawd slars!

L2

|

el

L]
n

4.13

Options :

686340162913. 1
686340162914. 2
686340162915. 3
686340162916. 4

Question Number : 30 Question Id : 68634041251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



kg dry matter per day needed by a buffalo of 500 kg body weight.

b2
| ]
=

4,15

Options :

686340162917. 1
686340162918. 2
686340162919. 3
686340162920. 4

Question Number : 30 Question Id : 68634041251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500 faram YR F1 U9 & I &3 @1 YR Ui &7 mawas® 3|

L1258

[
| ]
=

4.

—
L]

Options :

686340162917. 1
686340162918. 2
686340162919. 3
686340162920. 4

Question Number : 31 Question Id : 68634041252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vitamin B12 is also called as

1. Riboflavin

[

. Cynocobalamine
3. Cobalamine
4, Thiamin
Options :

686340162921. 1
686340162922. 2



686340162923. 3
686340162924. 4

Question Number : 31 Question Id : 68634041252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faerf®= B12 @ -y it pe1 S s -
1. SETia

R EIEAGIGIEE

R-Ab| G
4. YgHH

Options :

686340162921. 1
686340162922 2
686340162923. 3
686340162924. 4

[

L

Question Number : 32 Question Id : 68634041253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Milk is deficient in.
1. Vitamin A
2. Vitamin D
3. Vitamin C
4, Vitamin B
Options :
686340162925. 1
686340162926. 2

686340162927. 3
686340162928. 4

Question Number : 32 Question Id : 68634041253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U FE BT UG ST g -
1. faerfiT A

fgqefi=p

faqef1c

4, faerfi B

Options :

686340162925. 1
686340162926. 2
686340162927. 3
686340162928. 4

| )

L

Question Number : 33 Question Id : 68634041254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The minimum S.N.F% buffallo milk fixed by the Government should.

1.8.6

| )
sl

3.9.0
4.9.5

Options :

686340162929. 1
686340162930. 2
686340162931. 3
686340162932. 4

Question Number : 33 Question Id : 68634041254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WER R 99 & gy F forg Fefia g7am s nrw gl

1.8.6

2
oo

3.9.0
4.9.5

Options :
686340162929. 1



686340162930. 2
686340162931. 3
686340162932. 4

Question Number : 34 Question Id : 68634041255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

towards 1s used to calculate total solid percentage in milk.

1.

™

LR+12F+1.4

4

7

£y

LR+ 1.2F+0.14

I

4 CLR+22F+1.04

Options :

686340162933. 1
686340162934. 2
686340162935. 3
686340162936. 4

Question Number : 34 Question Id : 68634041255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A GRI Y & U1 319 % 1 U] &1 oIl 5|

1. CLR+12F+14

4

4

g

LR+ 1.2F +0.4

I

3.CLR+12F +2.24

4
4. CLR+22F+1.04

Options :

686340162933. 1
686340162934. 2
686340162935. 3
686340162936. 4

Question Number : 35 Question Id : 68634041256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the normal body temperature of buffalo in summer.

1.85°F

| B

.102° F
3. 107°F
4,80°F

Options :

686340162937. 1

686340162938. 2

686340162939. 3
686340162940. 4

Question Number : 35 Question Id : 68634041256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy g & 99 & IRR &1 WHEF TG 18T 82

1.85°F

| o

. 102°F
3.107°F
4.90°F

Options :

686340162937. 1
686340162938. 2
686340162939. 3
686340162940. 4

Question Number : 36 Question Id : 68634041257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A good quality of dahi should have acidity less than

1. 0.5%

2
[ ]
o
)
o

3. 1.5%
4. 0.8%
Options :

686340162941. 1
686340162942. 2



686340162943. 3
686340162944. 4

Question Number : 36 Question Id : 68634041257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 331 [UIal dTdl el i Sigdl (9 9 &1 gl 9ifeu|

1. 0.5%

| ]
| ]
=
2
=]

4, 0.8%

Options :

686340162941. 1
686340162942 2
686340162943. 3
686340162944. 4

Question Number : 37 Question Id : 68634041258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Butter value of nulk is due to.
1. Calcium
2. Protein
3. Fat
4. Carbohydrate
Options :
686340162945. 1
686340162946. 2

686340162947. 3
686340162948. 4

Question Number : 37 Question Id : 68634041258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U BT TPR 3] [ & PRUTEIA B -
1. Bfckrad
HIEH

3.9dIl

4, PERESC

Options :

686340162945. 1
686340162946. 2
686340162947. 3
686340162948. 4

| )

Question Number : 38 Question Id : 68634041259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average heart beat per minute of cow is.

1.:55

b2

.90

L¥ 5]
o |
n

4. 70

Options :

686340162949. 1
686340162950. 2
686340162951. 3
686340162952. 4

Question Number : 38 Question Id : 68634041259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG &1 gy &1 3ilad e & ufd fime R gnft -

155

)

|

.90
3775
4. 70

Options :
686340162949. 1



686340162950. 2
686340162951. 3
686340162952. 4

Question Number : 39 Question Id : 68634041260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
vitamins are fat soluble.
l.Aand D
2AD.and C
3AOD,Eand K
4, Band C
Options :
686340162953. 1
686340162954. 2

686340162955. 3
686340162956. 4

Question Number : 39 Question Id : 68634041260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i N S

[qeTiaq gar § gasia |

1.A3IRD
A.D3RC

[

A.D.E3RK

4.B3RC

Options :

686340162953. 1
686340162954. 2
686340162955. 3
686340162956. 4

L

Question Number : 40 Question Id : 68634041261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



harmone is responsible for milk secretion.

1. Prolactin

2

. PTH
3. TSH
4, Oxytocin

Options :

686340162957. 1
686340162958. 2
686340162959. 3
686340162960. 4

Question Number : 40 Question Id : 68634041261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qydwEed  BHM Swadi gl

1. gTaifge
2.PTH
3. TSH
4. 3Tt

Options :

686340162957. 1

686340162958. 2

686340162959. 3
686340162960. 4

Question Number : 41 Question Id : 68634041262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which at the following 18 NOT carbohydrate adulterant used i milk products.

1. Cane sugar

| B

. Glucose
3. Starch
4. Potassium sulphate

Options :
686340162961. 1



686340162962. 2
686340162963. 3
686340162964. 4

Question Number : 41 Question Id : 68634041262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ @1 TRINT g8 QU1 38 & Sdlel § Slaiglgge Syl & =4 § gl (] oildl g -
1. 79 BT Fa1

RGan]
'™

4. QrefgH gebe

Options :

686340162961. 1
686340162962. 2
686340162963. 3
686340162964. 4

[

L]

Question Number : 42 Question Id : 68634041263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To increase the shelf life milk Adulterant iz used.

1. Starch

[ ]

. Hydrogen Peroxide
3. Water
4. Urea

Options :

686340162965. 1
686340162966. 2
686340162967. 3
686340162968. 4

Question Number : 42 Question Id : 68634041263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CUP UK AYFgH & e g Sffiyur &1 ugnT fam ol g
1. T

BOSo WSS

3.9

T

Options :

686340162965. 1
686340162966. 2
686340162967. 3
686340162968. 4

| )

Question Number : 43 Question Id : 68634041264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

remains most resistant on heat treatment of milk.

1. Vitamin C

b2

. Vitamin E
3. Vitamin K
4. Vitamin A
Options :
686340162969. 1
686340162970. 2

686340162971. 3
686340162972. 4

Question Number : 43 Question Id : 68634041264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 [GelitE go &1 T &3 U Fallge WioRid gdl g
1. faerie 1 ¢

4. faera A

Options :
686340162969. 1



686340162970. 2
686340162971. 3
686340162972. 4

Question Number : 44 Question Id : 68634041265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In butter the ester like flavors are resulted due to the action of.

1. P. fragi
2. P. mephitica
3. Pseudomonas synxantha
4. Acromonas hydrophila

Options :

686340162973. 1

686340162974. 2

686340162975. 3
686340162976. 4

Question Number : 44 Question Id : 68634041265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OaE- H TR qgH Wie Mg s uya § 3 e -
1. ot it

4l dwiicer

. ST R7or=1

. UPIHIG graS e
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Options :

686340162973. 1
686340162974. 2
686340162975. 3
686340162976. 4

Question Number : 45 Question Id : 68634041266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dagnala disease in animals is caused due to deficiency.

1. Silicon

2

. Calcium
3. Magnesium

4, Selenium

Options :

686340162977. 1
686340162978. 2
686340162979. 3
686340162980. 4

Question Number : 45 Question Id : 68634041266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MR ST B AU I el
1. fafere
HicRrgy
Beftfrm
4, IoAfrgn

| )

[#5]

Options :

686340162977. 1
686340162978. 2
686340162979. 3
686340162980. 4

Question Number : 46 Question Id : 68634041267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s enzyme coagulated milk product.

1. Dahi

[

. Cheese
3. Pancer
4, Chhaina

Options :

686340162981. 1
686340162982. 2



686340162983. 3
686340162984. 4

Question Number : 46 Question Id : 68634041267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEH g1 Y 31E B

ol
2. A
TR
4.3

Options :

686340162981. 1
686340162982. 2
686340162983. 3
686340162984. 4

L]

Question Number : 47 Question Id : 68634041268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Dairy Research Institute is located at ?

1. New Delln

b2

. Jhansi
3. Karnal
4. Varanasi

Options :

686340162985. 1
686340162986. 2
686340162987. 3
686340162988. 4

Question Number : 47 Question Id : 68634041268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt SO iy S R -
s e
=Inl
3. B
4. TRTUTE!
Options :
686340162985. 1
686340162986. 2

686340162987. 3
686340162988. 4

fa—y

| )

Question Number : 48 Question Id : 68634041269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Yellow colour of cow milk is due to presence of

1. Anthoeyanin

| )

. Carotene
3. Vitamin C
4. Vitamin B
Options :
686340162989. 1
686340162990. 2

686340162991. 3
686340162992. 4

Question Number : 48 Question Id : 68634041269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & gY BT Ulea 9 & PRI I § -
1. T
@RI
fgerfiAc
4. faeifB

Options :
686340162989. 1

| ]

L]



686340162990. 2
686340162991. 3
686340162992. 4

Question Number : 49 Question Id : 68634041270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
is used to prepare Bullgorian butter milk.
1. Streptococcus lactis
2. Streptococcus thermophilus
3. 5. cremonis
4. Lactobacillus bulgaricus

Options :

686340162993. 1
686340162994. 2
686340162995. 3
686340162996. 4

Question Number : 49 Question Id : 68634041270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D1 YN g gex (e §9H 3 fear erar g |
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Options :

686340162993. 1
686340162994. 2
686340162995. 3
686340162996. 4

| )
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Question Number : 50 Question Id : 68634041271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to BIS standards the titrable acidity for Dahi or yoghurt s Ya

1.1

2

0.5

LFS]
o

4, 0.05

Options :

686340162997. 1
686340162998. 2
686340162999. 3
686340163000. 4

Question Number : 50 Question Id : 68634041271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI gIGNTe & BIS & AF®! & 4R el5ce Oy sfwfiaar % Bldl &

; B |

| o

0.5

(5]
n

4. 0.05

Options :

686340162997. 1
686340162998. 2
686340162999. 3
686340163000. 4

Question Number : 51 Question Id : 68634041272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1s responsible under certain conditions for the detect known as 'Sandiness' in the ice cream and
sweetened condensed milk.

1. Milk proteins
2. Water

3. Fat

4. Lactose

Options :
686340163001. 1



686340163002. 2
686340163003. 3
686340163004. 4

Question Number : 51 Question Id : 68634041272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n]
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Y T
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3. 99

4, WGy
Options :
686340163001. 1
686340163002, 2

686340163003. 3
686340163004. 4

—
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Question Number : 52 Question Id : 68634041273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Doing the conversion of milk into curd constituent of milk get mainly changed.

1. Carbohydrate

b2

. Protein
3. Fat
4. Vitamins

Options :

686340163005. 1
686340163006. 2
686340163007. 3
686340163008. 4

Question Number : 52 Question Id : 68634041273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340163005. 1
686340163006. 2

686340163007. 3
686340163008. 4

| )

Question Number : 53 Question Id : 68634041274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milk is an emulsion of ?

1. Minerals

b2

. Fat in water

3. SNF in water

4, Fat Soluble vitamins
Options :
686340163009. 1
686340163010. 2

686340163011. 3
686340163012. 4

Question Number : 53 Question Id : 68634041274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340163009. 1
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686340163010. 2
686340163011. 3
686340163012. 4

Question Number : 54 Question Id : 68634041275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
constituents affects freezing point of milk.
1. Protein
2. Lactose

3. Water

4, Fat
Options :
686340163013. 1
686340163014. 2

686340163015. 3
686340163016. 4

Question Number : 54 Question Id : 68634041275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e gY & o4 famg &1 wifad e 8
1. W=
 daeE
gl

| )
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4. ddl

Options :

686340163013. 1
686340163014. 2
686340163015. 3
686340163016. 4

Question Number : 55 Question Id : 68634041276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The optimum temperature required for growth and multiplication of Psychrophilic bacteria

1.3-20°C

| B

25-35° C
3.41-45°C
4. 50-70° C

Options :

686340163017. 1
686340163018. 2
686340163019. 3
686340163020. 4

Question Number : 55 Question Id : 68634041276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ithiered Siam] & gfg dut ufaeia & ford Suged araHr &1 =90 &3 -

1. 3-20°C

| )

.25-35°C

4. 50-70° C

Options :

686340163017. 1
686340163018. 2
686340163019. 3
686340163020. 4

Question Number : 56 Question Id : 68634041277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Best method of milking 1s ?

1. Full hand mulking

b2

. Stripping
3. Knockling
4. Suckling
Options :

686340163021. 1
686340163022. 2



686340163023. 3
686340163024. 4

Question Number : 56 Question Id : 68634041277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163021. 1
686340163022. 2
686340163023. 3
686340163024. 4
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Question Number : 57 Question Id : 68634041278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Maximum fat percentage 1s found in milk of.

1. Jafarabadi

[

. Nili
3. Bhodawani
4. Nagpuri

Options :

686340163025. 1
686340163026. 2
686340163027. 3
686340163028. 4

Question Number : 57 Question Id : 68634041278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340163025. 1
686340163026. 2

686340163027. 3
686340163028. 4
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Question Number : 58 Question Id : 68634041279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

temperature 1s satisfactory for cream separation.

]
L
n

4.45

Options :

686340163029. 1
686340163030. 2
686340163031. 3
686340163032. 4

Question Number : 58 Question Id : 68634041279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gyl § Hd 3ugdd RISEIEE]

1. 30

[
L
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3.38
4.45

Options :
686340163029. 1



686340163030. 2
686340163031. 3
686340163032. 4

Question Number : 59 Question Id : 68634041280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
is responsible for colour of fat in milk.

1. Sugar

2. Lactose

3. Cavotene

4. Water
Options :
686340163033. 1
686340163034. 2

686340163035. 3
686340163036. 4

Question Number : 59 Question Id : 68634041280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U P U S T H o SaRar gl gl
1. JIhR]

oy
4. gHIl

Options :

686340163033. 1
686340163034. 2
686340163035. 3
686340163036. 4
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Question Number : 60 Question Id : 68634041281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The losses of ascorbic acid thiomine increase to and percent respectively in
sterilization.

1. 50% and 30%

| )

. 50% and 30-50%
3. 30% and 50%
4. 40% and 20%

Options :

686340163037. 1
686340163038. 2
686340163039. 3
686340163040. 4

Question Number : 60 Question Id : 68634041281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefaor ufera & temifde ara quT yrH= &1 arg gH! 3R i d@
ST 9¢ ol o

1. 50% ol 30%

| )

. 50% dYT 30-50%

[#5]

. 30% d¥yl 50%
4. 40% dUT 20%

Options :

686340163037. 1
686340163038. 2
686340163039. 3
686340163040. 4

Question Number : 61 Question Id : 68634041282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Usually the gas mixtures used in MAP (Moditied Atmosphere Packaging) does not involve gas.

1. CO,

i



Options :

686340163041. 1
686340163042. 2
686340163043. 3
686340163044. 4

Question Number : 61 Question Id : 68634041282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT T (S0 S MAP (TS HIES argH S UdbiolT) SRl § = WRT gl $1 S §

1. CO,

[
wn
]
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4.0,

Options :

686340163041. 1
686340163042. 2
686340163043. 3
686340163044. 4

Question Number : 62 Question Id : 68634041283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The property not shown by packaging material is.

1. It should not react with the products stored
2. It should be casy to open distritution. reseal and store
3. It should protect food from water vapour, gases and volatiles
4. It should be made up of toxic material

Options :

686340163045. 1

686340163046. 2

686340163047. 3
686340163048. 4

Question Number : 62 Question Id : 68634041283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163045. 1
686340163046. 2
686340163047. 3
686340163048. 4

Question Number : 63 Question Id : 68634041284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The problem associated with earthen pots to store Dahi 1s:

1. Eco-friendly

2. Easily degradable after disposal

Lad

. Dahi packed in earthen pots has a firm body
4. Heavy and breakable

Options :

686340163049. 1

686340163050. 2

686340163051. 3
686340163052. 4

Question Number : 63 Question Id : 68634041284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340163049. 1
686340163050. 2
686340163051. 3
686340163052. 4

Question Number : 64 Question Id : 68634041285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Microbiological hazards in milk melude.

1. Bacteria and viruses only

(B

. bacteria and fungi only
3. Bacteria, viruses. fungi and algae
4. Fungi and algae only

Options :

686340163053. 1

686340163054. 2

686340163055. 3
686340163056. 4

Question Number : 64 Question Id : 68634041285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163053. 1
686340163054. 2
686340163055. 3
686340163056. 4

Question Number : 65 Question Id : 68634041286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prime component of milk is.

1. Water

| B

. Cream
3. Minerals
4, Cmd

Options :

686340163057. 1
686340163058. 2
686340163059. 3
686340163060. 4

Question Number : 65 Question Id : 68634041286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&Y &1 YT 9 © -
1. 5d
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RGBT

4. 3%

Options :

686340163057. 1
686340163058. 2
686340163059. 3
686340163060. 4
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Question Number : 66 Question Id : 68634041287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The birth place of Rathi breed of cow is.
1. Ajmer
2. Amritsar
3. Jaipur
4. Alwar

Options :
686340163061. 1



686340163062. 2
686340163063. 3
686340163064. 4

Question Number : 66 Question Id : 68634041287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. SR
SRR
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4. TR

[

L]

Options :

686340163061. 1
686340163062. 2
686340163063. 3
686340163064. 4

Question Number : 67 Question Id : 68634041288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following minerals is used in low quality in the milk?

1. Fe

[

P
3.Ca
4. Mg

Options :

686340163065. 1
686340163066. 2
686340163067. 3
686340163068. 4

Question Number : 67 Question Id : 68634041288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FH o 9 S 1 @ T & gy § &0 A3 H U ol 62

1. Fe
2.P
3. Ca
4. Mg

Options :

686340163065. 1

686340163066. 2

686340163067. 3
686340163068. 4

Question Number : 68 Question Id : 68634041289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: Vitamin B, is also called as cyanocobalamin which 1s present in nulk
Reason R: Vitamin B, contains cobalt as one of the components
In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. Ais true but R 1s false

4. A is true but R 1s true

Options :

686340163069. 1
686340163070. 2
686340163071. 3
686340163072. 4

Question Number : 68 Question Id : 68634041289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3l Py Rr T E. e oifireys & w0 H fafEd € J g9 S9% oRU B S A,
HTUTHYA: fG2TH By, T AGAGETGEHA 1 F81 a1 § S g8 § SURYd §ial o
PROT: f4e1fi 51, ¥ Sidlee U Ucdh & F0 § U101 9Idl &
SWRIdd PYT & 3l H, i 3T 7 fadsedi § 4 981 IR &1 98 P,
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2. A SRR EF IAE. AR R, A DI T8l ARA T8l ¢

3. AT S, AfFT R JTTE
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Options :

686340163069. 1
686340163070. 2
686340163071. 3
686340163072. 4

Question Number : 69 Question Id : 68634041290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Pasteurization is applied to destroy sensitive spoilage and pathogenic bacteria Present raw milk

Reason R: Pasteurization is not sufficient to inactivate bacterial spores and heat resistant bacteria

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340163073. 1
686340163074. 2
686340163075. 3
686340163076. 4

Question Number : 69 Question Id : 68634041290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340163073. 1
686340163074. 2
686340163075. 3
686340163076. 4

Question Number : 70 Question Id : 68634041291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Pasteurization reduces the number of spoilage organisms such as psychrotrophs

Reason R: Pasteurization designed for the destruction of pathogenic bacteria

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A 1s not correct but R is correct

Options :

686340163077. 1
686340163078. 2
686340163079. 3
686340163080. 4



Question Number : 70 Question Id : 68634041291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= S Py RRu MU .t aifiieus & w0 fofed € 9 g9 S99 oRU 6 F U H,
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Options :

686340163077. 1
686340163078. 2
686340163079. 3
686340163080. 4

Question Number : 71 Question Id : 68634041292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Buffalo milk is better swited for fat rich dairy products than cow milk

Reason R: Buffalo milk has higher fat content, higher yield and better texture

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :

686340163081. 1
686340163082. 2



686340163083. 3
686340163084. 4

Question Number : 71 Question Id : 68634041292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163081. 1
686340163082. 2
686340163083. 3
686340163084. 4

Question Number : 72 Question Id : 68634041293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is /are prepared by fermention process?

A. Mist Dalu

B. Shirkhand wadi
C. Basundi

D. Rabni

E. Chakka

Choose the correct answer from the options given below:

1. A B and C only

[ ]

.A. B and E only
3. Aand E only
4. B and D only
Options :
686340163085. 1
686340163086. 2

686340163087. 3
686340163088. 4

Question Number : 72 Question Id : 68634041293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o I oH fevas fear 9 s9drd 82

A, T <8l
B. 41U 91

C. STyt
D. 33!
E. ga@1
i fau U fae el ¥ O 98 U SR 1 99 BIfuIU:
1. BITA. B IR C
2. FAAA. B IARE
3. Fad A IRE

4. FAAB IR D

Options :
686340163085. 1




686340163086. 2
686340163087. 3
686340163088. 4

Question Number : 73 Question Id : 68634041294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following surface affect the surface tension of milk?

A. Casein

B. Fat

C. Acidity

D. Ageing

E. Temperature

Choose the correct answer from the options given below:

1. A.B. C only

| )

.B.C.D and E only
3. Cand D only
4.A.B.C.D and E only

Options :

686340163089. 1
686340163090. 2
686340163091. 3
686340163092. 4

Question Number : 73 Question Id : 68634041294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 7 T gH & Fde o-1d TR AHIE B A S § 2

A HEH

B.Tdl

C. Y H it
D. TSl

E. dIUHIH

19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:
1. $AAA.B AR C
2. %adB. C.D 3RE
3.%a8 C IR D
4. HaAA.B.C.D IRE

Options :

686340163089. 1
686340163090. 2
686340163091. 3
686340163092. 4

Question Number : 74 Question Id : 68634041295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is / are alkali cleaners type of dairy detergents?

A. Tartaric acid

B. Caustic soda

C. Teepol

D. Trisodium phosphate
E. Sodium bi-carbonate

Choose the correct answer from the options given below:

1. Aand B only

[ )

.B.D and E only
3.B.C.D and E only

4. B and D only

Options :

686340163093. 1
686340163094. 2
686340163095. 3
686340163096. 4



Question Number : 74 Question Id : 68634041295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & &R BT dlcl [SexulT] &l 999 B2

A= fau U fas el O O 98 SUed SR 1 99+ BIfuIU:
1. %ad A 3R B
2. Paq B.D ARE
3.%ddB. C.D 3RE
4.%ad B IR D

Options :

686340163093. 1
686340163094. 2
686340163095. 3
686340163096. 4

Question Number : 75 Question Id : 68634041296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During pasteurization of standardized and cold milk (5°C) following steps are involved.

A. Bottling

B. Homogenization (2500 psi)

C. Storage (5°C or below)

D. Pasteurization (72° C / 15 sec)

Choose the correct answer from the options given below:

1.D,B,C,A

| )

.D.B.A.C
33JAC.B.D
4. B C, DA

Options :

686340163097. 1

686340163098. 2
686340163099. 3



686340163100. 4

Question Number : 75 Question Id : 68634041296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFSIFHd R 63 (5°C)3H T TRARIaRU & aRM FafifEd oo i s g1

A. §ICIRU
B. GGG (2500 psi)

C. USRI (5°C T7 1)
D. URGRIBRI (72° C / 15 HPUS)

19 f3u Tt fasedi § 9 &l IUged SR &1 999 DifIL:

1.D.B,.C,A

b2

.D.B,A.C
3.AC.B.D
4.B.C.D. A

Options :

686340163097. 1
686340163098. 2
686340163099. 3
686340163100. 4

Question Number : 76 Question Id : 68634041297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HACCP system involves.

A Identification of the hazards
B. Identification of the critical control points
C. Establish a monitoring system for each ccp
D. No establishment for corrective measures
E. Record keeping
Choose the correct answer from the options given below:
1. A. B and C only
2.B. C and D only
3.A.D. CandE only
4. A.B.CandE only

Options :
686340163101. 1



686340163102. 2
686340163103. 3
686340163104. 4

Question Number : 76 Question Id : 68634041297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HACCP o3 & gfifed g -

A Y&el &l ggaH-l

B. fepfeshel Hdas fag il &1 =g+

C. Ul CCP &1 HHIe & & Ug &1 (AR

D. I8! 50 o T&+ a1d HTuS sl &1 (oo 78] &
E. R&rs w@

A= fau U fae el O O 98 U SR 1 99+ BHIfuiU:

1. Bad A. BAYUIC
2. FaA B. CdUTD
3. HdTA.D.CTYUIE

4. FATA.B.CTUE

Options :

686340163101. 1
686340163102. 2
686340163103. 3
686340163104. 4

Question Number : 77 Question Id : 68634041298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following methods 1s / are used for the determination of viscosity?
A. Oswald pipette
B. Mac Mecheal Viscometer

C. Fall ball Viscometer
D. The Borden body flowmeter

Choose the correct answer from the options given below:

1. B and C only

| )

.Aand D only
3. A Band C only

4. A.B. Cand D only



Options :

686340163105. 1
686340163106. 2
686340163107. 3
686340163108. 4

Question Number : 77 Question Id : 68634041298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farpifyet w7 i faefiat 1w fopa st 62

A 3{iEres fuge

B. U& fidd fawifiez
C. BId-aTe [aadiifex
D. §RS dIs! Fiide

I

19 f3u Tt fasedi § 9 &l IUged SR &1 999 DifIL:
1. Fad B AUl C
2. Had AdYUI D

3. FAT A BAYUIC

4. FAT A, B.CAUID

Options :

686340163105. 1
686340163106. 2
686340163107. 3
686340163108. 4

Question Number : 78 Question Id : 68634041299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is / are the methods of making Ghee?

A. Desi method

B. Pre-stratification method
C. Making ghee from cream
D. Ghee making from butter

Choose the correct answer from the options given below:
1. A.B. C and D only
2. A.Band D only
3.B. C and D only

4. A B and C only

Options :

6863401631009. 1
686340163110. 2
686340163111. 3
686340163112. 4

Question Number : 78 Question Id : 68634041299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl & & fohardl &1 9g- &2

A. &3t fafy

B. W-xdifthaha fafy
C. fehT I ©f S

D. g U Ht g9

i fau U fde el O O 98 U IR 1 99 HIIU:

1. 9dd A, B.CdUID

2. AT A, BTAUID
3. Pda B. C dUID

4. PAAA, BAYUIC

Options :

686340163109. 1
686340163110. 2
686340163111. 3
686340163112. 4

Question Number : 79 Question Id : 68634041300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: HACCP is a systematic approach to identify and control hazards which can be biological
chemical or physical hazards

Statement IT: ISI was formerly known as BIS

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4. Statement [ is false but Statement II is true

Options :

686340163113. 1
686340163114. 2
686340163115. 3
686340163116. 4

Question Number : 79 Question Id : 68634041300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AGRCACURIE

Y I: HACCP TP hHES diidl o | forgs Hdel & Iga=-1 aul (S0 &1 9iEieid & ol widdb.
TEf—E gyt Yiflds g 9ad B

DY I1: ISI BT Tg<l BIS & =TH I ST ST 4TI

SWRIgd BYUF & Al H, H ey T faedl & I Hel 3R &1 999 DIT:
1. HY 1 R 11 S T &
2. BYA [ AR 11 ST S &

3. HUA 1T . Afh PUE 11 39 §

4. PYT I HGT . AT PYT I I &

Options :

686340163113. 1
686340163114. 2
686340163115. 3
686340163116. 4



Question Number : 80 Question Id : 68634041301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Greater the intake of green feed. deeper yellow is the colour of cow milk
Statement IT: Smaller the fat globules lower the fat content. greater is the intensity of yellow colour of milk
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false
4, Statement I is false but Statement I 1s true

Options :

686340163117. 1
686340163118. 2
686340163119. 3
686340163120. 4

Question Number : 80 Question Id : 68634041301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
al U iU U E:
YT 1 M0 P o B 3 HIoi iU 8 IR g H Uieia ¥ g
FY I1: T TIegeR HH BH U 981 A1 HH qUT g H Giermg- g g
SRIGd YA & AP H, A [SU U [dhed] § T ol 39 &1 994 DI

1. PYTI RIS TS
2 Y1 AR GHI A S

3. PYT I e, AfPT PYT 11 T B

4, PYTI 3T B, AT YT I I ©

Options :

686340163117. 1
686340163118. 2
686340163119. 3
686340163120. 4

Question Number : 81 Question Id : 68634041302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Colour of milk is due to colloidal casein particles and dispersed fat globules
Statement II: Colour of milk is due to presence of carotenes

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340163121. 1
686340163122. 2
686340163123. 3
686340163124. 4

Question Number : 81 Question Id : 68634041302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aAHU YU E:
®YTL: 3 B I PIAIS b U gl [dBid a4l Tdiedd & PRUI GIdl 6|
®Y I1: T8 BT T PpRilcd Bl JUR & BRI GIdl ¢ |
SWRIGd PUF & el H, = 34U Y faded! & A 981 SoR &1 989 DIOTT;
1. PYT1 AR 1S T &
2. BY [ AR 11 ST S &

3. YT I I . Al YT I 3T §

4. BYT I B, AT PYTII IT &

Options :

686340163121. 1
686340163122. 2
686340163123. 3
686340163124. 4

Question Number : 82 Question Id : 68634041303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: In AP (Aseptic Packaging) Packaging film can be sterilized using chemieals like H,0,
Statement IT: The packaging materials in AP cannot be recycled for reuse
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false

4, Statement I is false but Statement IT is true

Options :

686340163125. 1
686340163126. 2
686340163127. 3
686340163128. 4

Question Number : 82 Question Id : 68634041303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3l Py Rr T E. e oifireys & w0 H fafEd € J g9 S9% oRU B S A,

HTUTUA: AP (SfOHG UaroilTT) Udsoiiv fthed P a1 o’ H,0, & WIRT ¥ Saxishd (&l off Sedl
gl

BIROT: AP &1 Yot vard gsanT & ot e =2 i o 9 ar 3
SWRIGd PYT & 3l H, 1 3T 7 fadeedl § 4 981 IR &1 98 P,
1. A SRR EF GU 5, IR R. A DI Fg! oI §
2. A SRR EF I E. AR R, A DI Tel ARA T8l ¢

3. A9d S, dfPTR 3TA©

4 A TR ABTR I

Options :

686340163125. 1
686340163126. 2
686340163127. 3
686340163128. 4

Question Number : 83 Question Id : 68634041304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement [: The milk fat constitutes about 99.5% of ghee and rest 0.5% of unsaponifiable mater

Statement II: The unsaponifiable matter in milk fat contains complex mixture of substances like sterols.
vitaming ete

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

(3=

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4, Statement I is false but Statement I 1s true
Options :
686340163129. 1
686340163130. 2

686340163131. 3
686340163132. 4

Question Number : 83 Question Id : 68634041304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CUCAICICURIS
SYUT I: o T T 09.5% g8 B a1 dUT AN U1 Hatd ggrd gial gl
®Y I1: G B adl & UHIparg gard § w1, faemiH sanfe o1 wfed My siar g
SWRIGd PYF & 3l H, A 4T 7 fadredi # I 981 IR &1 98 Pifor;
1. HU AR 11 A T &
2. YT 1 R 11 S 3T §

3. YT I I . Al YT I 3T §

4 PYT I HGT L. AfPT YT I I &

Options :

686340163129. 1
686340163130. 2
686340163131. 3
686340163132. 4

Question Number : 84 Question Id : 68634041305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : The specific gravity of fat is in the rang of 0.936 to 0.946 at 15° C
Statement II: Concentration of fat in the milk of important livestock species 1s from 3.5 to 8.5 percent
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340163133. 1
686340163134. 2
686340163135. 3
686340163136. 4

Question Number : 84 Question Id : 68634041305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aAHU YU E:
HYT 1: T BT [afP 977 15°C UR 0.936 ¥ 0.946 B L Bl & |
®Y I1: To@yUl =il Welicai & go o a1 &1 411 3.5 9 8.5% & T gl o
SRIGd YA & AP H, A [SU U [dhed] § T ol 39 &1 994 DI
1. PYT1 AR 1S T &
2. BYF 1 R I I 3T 5

3. PYT IS, AfPT PUT I T B

4, PYTI 3T B, AT YT I I ©

Options :

686340163133. 1
686340163134. 2
686340163135. 3
686340163136. 4

Question Number : 85 Question Id : 68634041306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: In milk fat is dispersed in the continuous phase of serum
Statement IT: In butter serum is dispersed in continuous phase of fat
In the light of the above statements. choose the correct answer from the options Given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement I is true
Options :
686340163137. 1
686340163138. 2

686340163139. 3
686340163140. 4

Question Number : 85 Question Id : 68634041306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CALAIE RIS

®YF1: 38 1 od], 4RY & Haa a4 bdl edl |

HYF I1: §3 7 IR, 791 1 Fad siaw1 A Bar gl

SWRIGd PYF & 3l H, A 4T 7 fadredi # I 981 IR &1 98 Pifor;
1. DU AR 11 ST 9 §
2. BYF 1 IR 11 S A §
3. DY I 5. Al PUF I 393 §

4. BYTI I E. AP PYT I II &

Options :

686340163137. 1
686340163138. 2
686340163139. 3
686340163140. 4

Question Number : 86 Question Id : 68634041307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following test /s 18 / are included in platform test?

A. Organoleptic test

B. Clot on boiling test (COB)
C. Alcohol test

D. Sediment test

E. Resazorin test

Choose the most appropriate answer from the options given below:

1.B.C.D only

[ )

.A.B. Conly
3.A.B.C.D.E only
4. E only

Options :

686340163141. 1
686340163142. 2
686340163143. 3
686340163144. 4

Question Number : 86 Question Id : 68634041307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 & 9 D1 F/A WA ©iehH qRien B g 82
A. 3THIAR S Tdierm

B. 390 U3 Ygd] &0 (COB)

C. Uehigd GI&
D. 4f&He gdiemn

E. THIGRA tiam
i< fau 7Y fae el ¥ O 98 U ST 1 99 DIfuIL:
1.$Hdd B, C. D

2. FATA.B.C

3. %ddA.B.C.D.E

4. FAAE

Options :

686340163141. 1
686340163142. 2
686340163143. 3
686340163144. 4



Question Number : 87 Question Id : 68634041308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is / are used as stabilizer in ice cream?

A. Gelatin

B. Guargum

C. Beet sugar

D. Carboxyl methyl celluose
E. Sodium alginate

Choose the correct answer from the options given below:

1. A.B. C only
2.A.B.Dand E only
3.A B.C.Dand E only
4.D. E only

Options :

686340163145. 1

686340163146. 2

686340163147. 3
686340163148. 4

Question Number : 87 Question Id : 68634041308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g, #HEH 9 o ARe & &0 d v e 2

A. forfes
B. [@RIH

C. gabax TRl
D. Bl HuTae Segad
E. Uifsad ufese
19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:

1. PAGAA.B.C

2. HdT A B.DTYUIE
3. FATA.B.C.DJYUTE

4. HAAD.E

Options :
686340163145. 1
686340163146. 2



686340163147. 3
686340163148. 4

Question Number : 88 Question Id : 68634041309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Selection of metal for dairy equipment depends upon.

A. Non-toxic nature of metal

B. Corrosion resistant metal

C. High in cost

D. Durable

E. Easy to clean and keep bright

Choose the correct answer from the options given below:
1. Aand B only
2. A.B.D only
3.A B.Conly

4. A.B.D and E only

Options :

686340163149. 1
686340163150. 2
686340163151. 3
686340163152. 4

Question Number : 88 Question Id : 68634041309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St oA & ol yg w1 I P Rk B

A. HiquTed Wgfti &1 uTg

B. 7T Y o1

C. piHd H HitP

D. e UHY d& o+ ardl

E. ¥w5 AT HH qUl IHSdl g3l

i< fau 7Y fae el ¥ O 98 U ST 1 99 DIfuIL:
1. hdd AdUIB

2. AT A.B.D
3. FATA.B.C

4. AT A, B.DTYUIE



Options :

686340163149. 1
686340163150. 2
686340163151. 3
686340163152. 4

Question Number : 89 Question Id : 68634041310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements regarding vitamins is / are correct?

A. Vitamins act as antioxidants

B. Vitamins carry out oxygen transport in body
C. Vitamin A keeps the epithelial tissue healthy
D. Vitamin E is a fat soluble vitamin

E. Vitamin K 1s fat soluble vitamin

Choose the correct answer from the options given below:

1.A.B.C.D.E only

[ ]

.A. B and D only
3.A.B.C.Donly

4. A.B. C.E only

Options :

686340163153. 1
686340163154. 2
686340163155. 3
686340163156. 4

Question Number : 89 Question Id : 68634041310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & 9 foeri= & &1 | 95l HY / THg =79 B -

A TFerftm srefioru & o § orf axd B
B. fderdi TR § el 9= &1 H1 &d o
c. [gerfia A Suwal S & W Edi g

D. fderi= E au1 ya-eiie f[derdi= g1

E. [derfiq K aar yaeiid fdermdi= g1

i AU Y fdeedi O O 998 U ST &1 99 BIfoIg:

LA B.CCDdJYIE

2. FAT A, BTAUID
3. FATA.B.CAUID

4, PAAA.B. CAUTE

Options :

686340163153. 1
686340163154. 2
686340163155. 3
686340163156. 4

Question Number : 90 Question Id : 68634041311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour of buffalo milk is richer than that of cow milk due to.

A. Lower number of fat particles

B. Larger number of fat particles

C. Lower number of lactose particles
D. More number of lactose particles

Choose the correct answer from the options given below:
1. Aand D only
2. A B. Conly
3. B only

4. A. B. C only

Options :

686340163157. 1
686340163158. 2
686340163159. 3
686340163160. 4



Question Number : 90 Question Id : 68634041311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & g8 BT T M D g8 B qa1 5 T glal o |

A GUI B HH 5lH & DRI
B. 341 HUN &I IW&AT A §lH &b BRI

C. Wae Y S0 & H 3] & HRU]
D. ¥ Ugeig HUN P PR

i< fau Y fae el O O 98 U ST &1 99 DI
1. Had AdUID
2. PATA.B. C
3.%dd B
4. PAT A, B. C

Options :

686340163157. 1
686340163158. 2
686340163159. 3
686340163160. 4

Question Number : 91 Question Id : 68634041312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
By product from cow milk protein%a
A |Skim milk I N4
B. |Ghee residue II. 5.4
C. [Butter milk I 3.6
D. [Lassi IV |24 8

Choose the correct answer from the options given below:

1. A-III, B-IV. C-I. D-II

| ]

CA-IIL B-IV. C-I1, D-I
3. A-IV, B-III. C-II. D-I
4. A-L. B-IV, C-1I. D-III
Options :

686340163161. 1
686340163162. 2



686340163163. 3
686340163164. 4

Question Number : 91 Question Id : 68634041312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

Sl T
A S gUHIUIAG U %

A [BHE Y L |14
B. [df 3@2y 1L 3.4
C. [§cX e I 36
D. [eredt V. |24.8

FafiRad f[deedl § O Uel 3R & 904 DI

1. A-III, B-IV, C-1, D-II
2. A-III, B-IV, C-11, D-1
3. A-IV. BT, CAIL, DT
4. A-I. B-IV. C-I1. D-III

Options :

686340163161 1

686340163162. 2

686340163163. 3
686340163164. 4

Question Number : 92 Question Id : 68634041313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements regarding viscosity of milk are correct?
A Tt 1s the resistance offered by a liquid to flow. agitation or shear
B. The unit of viscosity is poise
C. Viscometer is used to measure viscosity
D. Viscosity deceases with development of acid and fat contents

Choose the correct answer from the options given below:

1.A.B.C.Donly

| )

. B and C only
3.A B.Conly

4. A B.C.D only



Options :

686340163165. 1
686340163166. 2
686340163167. 3
686340163168. 4

Question Number : 92 Question Id : 68634041313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U D WM & HH H Jel SYH T I8 B -

A Todl gvd g 984, [Bar sual ldwg= &1 ufaly ga
B. RUIA1 &1 B9 g[-E UId ©
c. [ STy WHAdT 8u9 & sidl &

D. 3% qUT Gl YT de- & JgHdl 9edl §
i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:
1.%dd A.B.C.D
2. PAABAYUIC
3. PAAA.B.C
4.PdUA.B.C.D

Options :

686340163165. 1
686340163166. 2
686340163167. 3
686340163168. 4

Question Number : 93 Question Id : 68634041314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factor /s influences/s the homogenization efficiency of milk?

A. Homogenization pressure

B. Fat content mn nulk

C. Temperature of milk

D. Homogenization values

E. Single or two stage homogenization

Choose the correct answer from the options given below:

1. B and C only

[ ]

.A.B.C.D andE only
3.A.B.C.Donly

4. A.D and E only

Options :

686340163169. 1
686340163170. 2
686340163171. 3
686340163172. 4

Question Number : 93 Question Id : 68634041314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 ¥ A D1 91 9 gY FI SHoHOR UHIRES guifad $Rar g2

A BHEGHEHRHE 318
B. G4 1 qHl AT

C. G BT argHH

D. BTSSR deg.

E. THd 314dl fg WRig g oHgeRH
i< fau 7Y fae el ¥ O 98 U ST 1 99 DIfuIL:
1. had B AUl C

2.A.B.C.DQUTE
3. AT A, B.CAUID

4. PAAA, DAYUE

Options :

686340163169. 1
686340163170. 2
686340163171. 3
686340163172. 4



Question Number : 94 Question Id : 68634041315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Detects LIST IT Causal organisms

A |Abnormal coloutr] 1. |Bacterium cloacae

B. [Sliminess II. Micrococcus pitituroparys
C. |Bitterness 1L |E. coli

D. |Bad smell IV, |Bacterium erythrogenes

Choose the correct answer from the options given below:

1. A-I. B-IV., C-III. D-I1

| )

CA-IV, B-1, C-1I, D-III
3. A-IV. B-1, C-III. D-II
4, A-I11, B-II. C-IV, D-I

Options :

686340163173. 1
686340163174. 2
686340163175. 3
686340163176. 4

Question Number : 94 Question Id : 68634041315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore

T 1 T 11

g HIH oG
eeierRE | 1L |aihas Famet
ra@eetd | 1 |gEwiaiay fiegeney
GIEIRE 1L | ®icis
CIERE] V. |Faciias wrrdiTg

fFafaRad faeedl O ¥ I8! 3tk &1 99 Hifol ;

1. A-I. B-IV. C-III. D-II

o|o|w=]=

2. A-IV, B-I. C-11. D-III
3. A-IV. B-1. C-III. D-II
4. A-III, B-1I. C-IV. D-I

Options :
686340163173. 1



686340163174. 2
686340163175. 3
686340163176. 4

Question Number : 95 Question Id : 68634041316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I vitamin | LIST IT Examples
A [Vitamin By L. [Pvridoxine
B. [Vitamin Bg II. [Riboflavin

C. [Vitamin Bs I11. |Thiamine
B

Vitamin B IV, |Pantothenic acid

Choose the correct answer from the options given below:

1. A-III, B-II, C-I. D-IV

(B

CA-L B-TIV, C-II1. D-II
3. A-L. B-I11, C-IV, D-II
4. A-III, B-1I, C-IV. D-II

Options :

686340163177. 1
686340163178. 2
686340163179. 3
686340163180. 4

Question Number : 95 Question Id : 68634041316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T 1
fAemH B, | 1 [oodissia

[deHMBs | 1. REarwmiEa
fgeHiAB; |1 jummds

fGemM B, | IV. [derd-ie o
frafeiad fasedl © 8 981 Ik &1 90 Bifoy :

1. A-III. B-IL. C-L. D-IV

=

olo|w

| B)

CA-L B-TIV, C-III. D-II
3. A-L B-II1, C-IV. D-II
4. A-II1. B-1I, C-IV. D-II

Options :

686340163177. 1
686340163178. 2
686340163179. 3
686340163180. 4

Question Number : 96 Question Id : 68634041317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Type LIST IT Example
A Micrococet L. |Pseuodomonas
B. [Streptococet 11. |Staphyilococcus
C. |Gram +ve Asporogenour rods| II1. |Enferococcus
D. |Gram -ve rods IV |Micrabacterium

Choose the correct answer from the options given below:

1. A-II. B-I, C-III. D-IV

| )

A-IL B-IIL C-IV, D-I
3. A-IL B-III. C-IV. D-I
4, A-L. B-IV, C-11, D-III

Options :

686340163181. 1
686340163182. 2
686340163183. 3
686340163184. 4



Question Number : 96 Question Id : 68634041317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
Gl Geipt
TPR I

A [ER@@R 1 [esiamm

B. [RUc@ioR 1. |[Erciarmy

C. [om geRIes T 5y 1L [deviaray

D. [pH AeRE® Iy | IV, |am@iaiaiRay

frafaad fdeddl & I 98 IR &1 98- DI

1. A-I1. B-L. C-II1. D-IV
2. A-IIT. B-I1. C-IV. D-1
3. AT, B-1I1. C-TV. D-1
4. A-1. B-IV. C-II. D-III

Options :

686340163181. 1

686340163182. 2

686340163183. 3
686340163184. 4

Question Number : 97 Question Id : 68634041318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Composition of Lassi] Approximate %
A [Fat I J10-13%
B. [Protein II. J1.5-3 8%
C. [Lactose ITT. 13.0-3.6%
D. |Sugar IV |2.0-3.0%

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III. D-IV

| ]

AT B-ILL C-IV, D-IV
3. A-IL B-III. C-IV. D-I
4. A-IL. B-I. C-IV., D-III

Options :



686340163185. 1
686340163186. 2
686340163187. 3
686340163188. 4

Question Number : 97 Question Id : 68634041318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore
A 1 T I
At T HYEar TTHIT 2%
A [am 1. [10-15%
B. [MIeH 1. |1.5-3 8%
C. [eae™ 1L [3.0-3.6%
D. [ V. 2.0-3.0%
fafaiad faeedl § O 9el 3R &1 g0+ Sifo

1. A-I. B-II, C-III. D-IV
2. A-IL B-IL. C-IV, D-IV
3. A-IL B-III. C-IV. D-I
4. A-IL. B-I. C-IV, D-III

Options :

686340163185. 1
686340163186. 2
686340163187. 3
686340163188. 4

Question Number : 98 Question Id : 68634041319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Constituents of butter FSSAT 2011 standards Table butter
A Milk fat I. |1.5% max
B. Moisture II. |16.0% max
C. [Common salt III. |3.0% max
D. PMMilk solids not fat / curd IV, J80.0% min

Choose the correct answer from the options given below:

1. A-IV. B-II, C-III. D-I

[ ]

CA-IV, B-IIIL. C-I1, D-I

L]

AL B-IV. C-1. D-II
4. A-1. B-IT1, C-IV. D-II

Options :

686340163189. 1
686340163190. 2
686340163191. 3
686340163192. 4

Question Number : 98 Question Id : 68634041319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 [ Siforn
o 1 I

FSSAI2011 F HTUR GEI H UCH  caa aey

A [gygHn I |1 5% 3fftf@dd
B. [ IL 16.0% i dH
C. [HEFg THE 111 3.0% gD dH
D. [gY 319 9 @I a4l / Gal IV. [80.0% fférmas]
fafciad fadedl & I 98l TR &I 99+ HIflU

1. A-IV, B-11, C-III. D-I
2. A-TV, B-IIL. C-I1. D-I
3. A-IIL B-IV. C-I, D-II
4. A-1. B-IT1. C-IV. D-II
Options :
686340163189. 1

686340163190. 2
686340163191. 3



686340163192. 4

Question Number : 99 Question Id : 68634041320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Defects in pedo and burfi Cause of detects
A |Sour I |Due to lipolysis of milk fat
B. [Rancid II. |Product stored at high relative humadity
C. PMloist surface III. |Use of khoa having increased acidity
D. |Gritty texture IV. |Due to presence of large crystals of sugar

Choose the correct answer from the options given below:

1. A-III, B-I, C-III., D-IV

[ ]

AT B-ILL C-IV, D-IT
3. A-IL B-I, C-III. D-IV
4. A-II, B-IV. C-I, D-III

Options :

686340163193. 1
686340163194. 2
686340163195. 3
686340163196. 4

Question Number : 99 Question Id : 68634041320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

I II
ﬂmauﬁnﬁﬂaﬁ aﬁﬁw
A faet I [g% o491 &l gurded
B. RRys 11 [31G 3 Trual Hfsar oY Ieiéd
C. Faadg 111 [3=2 3fFd1 &1 A1l W4T [ 8l
D. [fife daeR IV. [Frd | 98 fobeed @1 Juiyd g
Faferad fdsedi O © 91 STk &1 994 Sy ;

1. A-III, B-1. C-III. D-IV

2. A-IL B-I1, C-IV, D-II

3. A-IL B-I. C-III, D-IV

4. A-IL. B-IV. C-1, D-III



Options :

686340163193. 1
686340163194. 2
686340163195. 3
686340163196. 4

Question Number : 100 Question Id : 68634041321 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTIT
Components Cow milk composition %
A |Water I B
B. [Lactose II 3.6
C. [Protein II1. [4.94
D. [Fat IV |87

Choose the correct answer from the options given below:

1. A-I. B-IV, C-III, D-II

[ ]

CA-IV. B-IIIL. C-1, D-IT
3. A-IL B-I, C-III. D-IV
4. A-IV, B-IIL. C-I1. D-I

Options :

686340163197. 1
686340163198. 2
686340163199. 3
686340163200. 4

Question Number : 100 Question Id : 68634041321 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 I
ueH T & gu H % T
A [OrEt Ll
B. |d&Z[H I |13.6
C. [|IeH 11 |4.96
D. [d41 IV |87
Fafaiad f[deedl § O Uel 3R & 944 DI

1. A-I. B-IV. C-II1. D-II
2. A-IV, B-III. C-1. D-II
3. A-IL B-1. C-III. D-IV
4. A-IV. B-III. C-I1. D-1

Options :

686340163197. 1

686340163198. 2

686340163199. 3
686340163200. 4



